
wall mount slim 432

wall mount slim 221

Zubehör TV 
Accessories TV
Toebehoren TV 
Accessoires TV 
Accessori TV 
Accesorios TV

Montageanleitung, Installation instructions, Montage-instructies, 
Instructions de montage, Istruzioni di montaggio, Instrucciones de montaje 

37
24

4
0

0
0



Advertencias de seguridad ES

Respete las instrucciones del manual. Manipule 
las herramientas con las precauciones necesarias. 
Instale la combinación de aparatos de manera que 
no presente riesgo de lesiones, p. ej., para niños que 
estén jugando cerca, y de manera que no pueda 
sufrir daños.  
Por lo demás, las advertencias de seguridad de 
nuestros televisores también tienen validez en este 
caso.

Coloque una base protectora sobre las superfi-
cies delicadas durante todo el montaje. De esta 
forma evitará arañazos.

1. Extraer el enchufe de red.

2. Colocar el televisor sobre una superficie 
blanda.
Retirar la cubierta del compartimento del cable 
(si está disponible).

3. Desatornillar el pie con un destornillador de 
estrella Torx T20.

				  
	

Indicazioni di sicurezza IT

Osservare le informazioni riportate nelle istruzioni. 
Utilizzare gli attrezzi con la dovuta cautela. Installare 
la combinazione di apparecchi in modo tale che non 
possa essere danneggiata e che non rappresenti un 
pericolo, ad esempio per i bambini che giocano.  
Anche in questo caso valgono le norme di sicurezza 
relative ai nostri apparecchi TV.

Durante l'intero montaggio posizionare una 
base protettiva sulle superfici sensibili. In questo 
modo si evitano i graffi.

1. Sfilare il connettore di alimentazione.

2. Posare l’apparecchio TV su una base 
morbida. Togliere il coperchio del vano cavi (se 
presente).

3. Svitare il piedistallo con un cacciavite a Torx 
T20.

			 

Instructions de sécurité FR

Veuillez observer les informations du mode 
d’emploi. Soyez prudent lors de l’utilisation d’outils. 
Positionnez votre combinaison d’appareils de telle 
sorte qu’elle ne représente p. ex. aucun danger pour 
des enfants en train de jouer et qu’elle ne puisse pas 
être renversée.  
Par ailleurs, les instructions de sécurité relatives à 
nos téléviseurs sont également valables ici.

Pendant toute l'opération de montage, placer un 
support de protection sur les surfaces fragiles. 
Vous éviterez ainsi de rayer la surface.

1. Débranchez la fiche de secteur.

2. Posez le téléviseur sur un support souple. 
Retirez le couvercle du compartiment de câbles 
(si présent). 

3. Dévissez le pied avec un tournevis Torx T20.

		

Safety instructions EN

Observe the information in the instructions.  

Handle tools with the necessary care and attention. 

Install your combination of equipment in such a way 

that it presents no danger to playing children for 

example and also can not be damaged.  

The safety instructions for our TV sets also apply 

here.

Lay a protective underlay over sensitive sur-
faces during the entire installation. In this way 
you will avoid scratching.

1. Pull out the mains adaptor.

2. Place the TV set onto a soft surface and 
remove cable storage compartment cover (if 
available).

3. Remove the stand with a Torx T20 screwdri-
ver.

				  

	

Veiligheidsvoorschriften NL

Neem de aanwijzingen in de handleiding in acht.
Wees voorzichtig bij het werken met gereedschap. 
Stel de apparatuur zo op dat ze geen gevaar vormt 
voor spelende kinderen en ook niet kan worden 
beschadigd.  
Verder gelden hier ook de veiligheidsvoorschriften 
voor onze tv-toestellen.

Leg gedurende de gehele montage een bescher-
mede onderlaag op gevoelige oppervlakken. Zo 
voorkomt u krassen.

1. Trek de stekker uit het stopcontact.

2. Stel het tv-toestel op een zachte ondergrond. 
Verwijder de kabelafdekking (wanneer aanwe-
zig).

3. Schroef de voet van het toestel af met een 
schroevendraaier Torx T20.

			 

Sicherheitshinweise DE

Beachten Sie die Informationen der Anleitung und 
lassen Sie im Umgang mit Werkzeug die nötige 
Vorsicht walten. Stellen Sie Ihre Gerätekombination 
so auf, dass sie, z.B. für spielende Kinder keine 
Gefährdung darstellt und auch nicht beschädigt 
werden kann. 
Des Weiteren haben die Sicherheitshinweise für 
unsere TV-Geräte auch hier Gültigkeit. 

Legen Sie während der gesamten Montage 
eine schützende Unterlage auf empfindliche 
Oberflächen. 
Damit verhindern Sie ein Verkratzen.

1. Netzstecker ziehen.

2. TV-Gerät auf weiche Unterlage legen und 
Kabelfachabdeckung (falls vorhanden) abneh-
men.

3. Standfuß mit Torx T20 -Schraubendreher 
abschrauben.

	

n wall mount slim 432 / 221 - 2 -

Montageanleitung Instructions de montage

Installation instructions Istruzioni di montaggio
Montage-instructies Instrucciones de montaje



 Lieferumfang DE

wall mount slim 432 / 221
A wall mount slim 432 / 221

B 4 x Puffer

C 4 x Kontaktscheibe für M8

D 4 x Schraube M8x16 Innensechskant SW5

E 4 x Sechskantbolzen M6x32

Contenu de la livraison FR

wall mount slim 432 / 221
A wall mount slim 432 / 221

B 4 Tampon

C 4 Rondelle de contact pour M8

D 4 vis M8x16 à six pans creux SW5

E 4 Boulon hexagonal M6x32

Scope of delivery EN

wall mount slim 432 / 221
A wall mount slim 432 / 221

B 4 x Buffer

C 4 x Contact washer for M8

D 4 x Screws M8x16 hexagon socket SW4

E 4 x Hexagon bolt M6x32

Volume di fornitura IT

wall mount slim 432 / 221
A wall mount slim 432 / 221

B 4 x Tamponi, 4 pezzi

C 4 x Rondella per M8

D 4 x vite a testa esagonale M8x16 SW5

E 4 x Bulloni esagonali M6 x 32

Benötigtes Werkzeug DE

Torx T20

Innensechskantschlüssel SW5 

Maulschlüssel SW12

Outils nécessaires FR

Torx T20

Six pans creux SW5

Clé plate de largeur de clé 12mm

Required tools EN

Torx T20

Hexagon socket wrench SW5

Spanner SW12

Strumenti necessari IT

Torx T20

Testa esagonale SW5

Chiave a bocca da 12 mm.

Volgende gereedschap nodig NL

Torx T20

Inbus SW5

Leutel maat 12mm

Herramienta necesaria ES 
Torx T20

Hexágono interior SW5

llave fija con un ancho de 12 mm

Leveringsomvang NL

wall mount slim 432 / 221
A wall mount slim 432 / 221

B 4 x Buffer

C 4 x Contactplaatje voor M8

D 4 x Schroef M8x16 inus SW5

E 4 x Zeskantbout M6x32 

Volumen de suministro ES

wall mount slim 432 / 221
A wall mount slim 432 / 221

B 4 Tope

C 4 Arandelas de contacto para M8

D 4 tornillos M8x16 con hexágono interior SW5

E 4 Pernos hexagonales M8 x 32

wall mount slim 432 wall mount slim 221

A A

B C D E

VESA 400 x 200

VESA 300 x 200

VESA 200 x 200

VESA 200 x 180

VESA 100 x 100
VESA 300 x 300

n wall mount slim 432 / 221 - 3 -

Montageanleitung Instructions de montage

Installation instructions Istruzioni di montaggio
Montage-instructies Instrucciones de montaje



wall mount montieren DE

Montage du wall mount FR

wall mount assembly EN

Montaggio wall mount IT

wall mount monteren NL

Monte el dispositivo wall mount ES

depending on device type

~ 4Nm

4 x E

~ 4Nm

depending on VESA size

D

C

n wall mount slim 432 / 221 - 4 -

Montageanleitung Instructions de montage

Installation instructions Istruzioni di montaggio
Montage-instructies Instrucciones de montaje

11

22

33

E

CA

D



wall mount montieren DE

Montage du wall mount FR

wall mount assembly EN

Montaggio wall mount IT

wall mount monteren NL

Monte el dispositivo wall mount ES

wall mount slim 432 wall mount slim 221

mm
mm

B

W

n wall mount slim 432 / 221 - 5 -

Montageanleitung Instructions de montage

Installation instructions Istruzioni di montaggio
Montage-instructies Instrucciones de montaje

180mm x

b a

H

B

300mm x

b a

H

W

44

12

6

320 mm X

55



Loewe wall mount slim 432

TV model article number W x H mm X mm VESA mm

Loewe bild c.32 60440 725 x 456 81 100 x 100

We. SEE  32 60510 738 x 459 81 100 x 100

Loewe bild 3.49 59438 1121 x 679 329 200 x 200

Loewe bild 3.43 59439 966 x 592 241 200 x 200

Loewe bild 2.49 57419 1121 x 681 329 200 x 200

Loewe bild 2.43 57420 966 x 591 241 200 x 200

Loewe bild 2.43 58421 962 x 591 328 200 x 180

Loewe bild 1.43 58411 962 x 590 328 200 x 180

Loewe bild 1.32 58410 734 x 463 99 100 x 100

TV model article number W x H mm X mm VESA mm

Loewe bild v.65 60410 1457 x 860 525 300 x 300

Loewe bild v.55 60411 1236 x 736 401 300 x 300

Loewe bild i.65 set 60435D50 1457 x 868 404 300 x 200

Loewe bild i.65 60435D10 1457 x 858 404 300 x 200

Loewe bild i.55 set 60433D50 1236 x 744 279 300 x 200

Loewe bild i.55 60433D10 1236 x 734 279 300 x 200

Loewe bild i.48 set 60431D50 1077 x 654 190 300 x 200

Loewe bild i.48 60431D10 1077 x 644 190 300 x 200

Loewe bild c.43 60442 970 x 589 198 300 x 300

We. SEE 55 60514 1244 x 741 303 400 x 200

We. SEE 50 60513 1130 x 676 240 300 x 200

We. SEE 43 60512 976 x 589 198 300 x 300

Loewe bild 5.65 59478 1457 x 883 525 300 x 300

Loewe bild 5.55 59479 1230 x 759 401 300 x 300

Loewe bild 4.55 57451 1230 x 759 401 300 x 300

Loewe bild 4.55 57441 1230 x 759 401 300 x 300

Loewe bild 3.65 59481 1457 x 863 525 300 x 300

Loewe bild 3.55 59482 1236 x 739 401 300 x 300

Loewe bild 2.55 59410 1236 x 737 401 300 x 300

Loewe bild 2.49 58422 1118 x 681 297 400 x 200

Loewe bild 1.49 58412 1118 x 681 297 400 x 200

Loewe wall mount slim 221

n wall mount slim 432 / 221 - 6 -

Montageanleitung Instructions de montage

Installation instructions Istruzioni di montaggio
Montage-instructies Instrucciones de montaje



wall mount montieren DE

Montage du wall mount FR

wall mount assembly EN

Montaggio wall mount IT

wall mount monteren NL

Monte el dispositivo wall mount ES

(S: with wall mount isoflex)

~ 4Nm

E

F

G

Auch kompatibel mit DE

floor2ceiling stand

screen lift plus

wall stand flex

Également compatible avec FR

floor2ceiling stand

screen lift plus

wall stand flex

Also compatible with EN

floor2ceiling stand

screen lift plus

wall stand flex

Compatibile anche con IT

floor2ceiling stand

screen lift plus

wall stand flex

Ook compatibel met NL

floor2ceiling stand

screen lift plus

wall stand flex

También es compatible con ES 
floor2ceiling stand

screen lift plus

wall stand flex

~ 4Nm

n wall mount slim 432 / 221 - 7 -

Montageanleitung Instructions de montage

Installation instructions Istruzioni di montaggio
Montage-instructies Instrucciones de montaje

A

S

wall mount isoflex + wall mount slim 432 / 221
~4-5mm



n wall mount slim 432 / 221 - 8 -

Montageanleitung Instructions de montage

Installation instructions Istruzioni di montaggio
Montage-instructies Instrucciones de montaje

wall mount slim 432 / 221
Art. Nr. 60808W00 / 60807W00

Printed in Germany
Auflage 1,06/2021 SB

Änderungen vorbehalten
Subject to modifications
Wijzigingen voorbehouden
Modifications reservée
Con riserva di modifiche
Reservado el drecho a modificaciones

Loewe Technology GmbH, 
Customer Care Center

Industriestraße 11
D-96317 Kronach

Telefon +49 9261 99-500
Telefax +49 9261 99-515

E-mail: ccc@loewe.de


